Right-handed

\\/

WALMLEY

JUNIOR SCHOOL

66 Silver
Club Challenge

School Assessment (1)

\\/

WALMLEY

JUNIOR SCHOOL

(2, 3, 4,5, 6 and 10 times table facts — 5 minutes)

12 x4 =

4x10-=

45+ 5 =

11x10=

2x3=

7x6=

11 x4 =

40+ 5=

5x6=

18+2=

6x10=

2x5=

9x4-=

8x10=

11x2=

2x10=

3x3=

6x4=

10x 2=

5x2=

6x7=

10x10 =

Time

55+5=

9x3=

6x2=

10x4 =

7x2=

10x5=

3x5=

21+3=

2x4-=

16+ 4 =

7212 =

33+3=

8x4-=

5x5=

6x2=

28+4=

10x3=

12x5=

6x3=

12x10=

7x10=

5x4-=

4x2=
36+3=
60+10=
54 -9 =
6x5=
2x2=
5x10=
3x6=
66 +11=
4x5=
9x10=
30+3=
4x6=
3x4-=
12x2=
6x6=
8x3=
3x2=
48 + 8 =
4x3=
8x2=
7x5=

Score / 66




Left-handed School Assessment (1)

WALWLEY 66 Silver WALWLEY
Club Challenge

JUNIOR SCHOOL JUNIOR SCHOOL

(2, 3, 4,5, 6 and 10 times table facts — 5 minutes)

12x4 = 55+5= 4x2-=
4x10= 9x3= 36 3=
45 + 5= 6x2= 60+10=
11x10= 10x4 = 54 -9 =
2x3= 7x2-= 6x5=
7x6= 10x5= 2x2=
11x4= 3x5= 5x10=
40 +5= 21 =3= 3x6=
5x6= 2x4-= 66+11-=
18 +2= 16 +4= 4x5=
6x10= 72 +12 = 9x10=
2x5= 33+3= 30+-3=
9x4-= 8x4= 4x6=
8x10= 5x5= 3x4-=
11x2= 6x2= 12x2=
2x10= 28 -4 = 6Xx6=
3x3= 10x3= 8x3=
6x4-= 12x5+= 3x2=
10x2= 6x3= 48 + 8 =
5x2= 12x10= 4x3=
6x7= 7x10= 8x2=
10x10= 5x4-= 7x5=
Time Score / 66




